Solve each system of equations below using
multiplication with the addition method. Find the
solution in the answer column and notice the word

next to it. Write this word in the box containing the TWEET (1, 2)
letter of that exercise. Keep working and you will
hear about some “udder” nonsense. HIS (2, 1)
(A) sx-2y=4 (2.) ©) 3x-5y=7 (1,2 SELLING (=5, 0)
Z (3x+y=9) 5 sx_oy=_1 " | BIRDSEED (-1, -—2)
| UDDER (2, 0)
3% — 5y = 13 .(4x+3y 9 (05 THE @3
-3(x—2y=5) 2) A(3x+4dy= 127 SINGING (-5, 4)
STARTED (2, —2)
éx+2ym —1) ‘(Sx By—16§ \) FED (-2 4)
3x—4y =19 h-H) g (4 X + By = — ‘) BUTTER (-1, 3)
COWS (1, 4)
-5 ~ ~
é(+2y=6) 2) @ 4x —3y=-20 MILK® (=1, —1)
5X+3y=2 ~x -8y = 5) (-50) [FARMER (1, =2)
AND (0, 3)
E lox +3y=7) N @( Sx+7y=—1) WINGS (2 —4)
(2. (5,2) Twho (-4
”3(3x+4y“ 10) ’5(—2x+5y 0) / ’
MOQO (1, 3)
Z
(F) (7x -3y =-5) © 5x+6y=—11 CHEEP (5.2)
| NG G Rt _ (-4,71) [BEEF . @ -2
5@x+2y =11 (3x+y=—4)
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Solve each problem below using a system of two equatlons in two variables.
Find the solution in the answer column and notice the letter next to it. Write
this letter in each box that contains the number of that exercise.

Three times the larger of two numbers is equal to four \\\\5@&.\@ “@’?f
times the smaller. The sum of the numbers is 21. Find y \\
the numbers. Ay = LW { . Gﬂ f @ 22, 6 @
x = Jaigin =

= smad e ¥ X-’l—\{-:: 2\ i, J’f?.‘lfi &
The difference between two numbers is 16. Five times A ® 18, 6 (/
the smaller is the same as 8 less than twice the larger. }; \\

Find the numbers ._\g ”]Z b (1‘*} %"\) \( @ 11, 10 &:
Ty 5y = 22-% P> $20, $35Vé

The larger of two numbers is 1 more than twice the -:\ 12 9 'z
smaller. The sum of the numbers is 20 less than three é @ ’ %b
tlmes the larger. Find the numbers. ) $1.35 W
K=Loanen, X w;H-'ZLg/ { 2, \0‘} ‘\5 ® \// @4
%rsmiﬂ,%:ti X+ 2 X > @13,5 z
. wo records and three tapés cost $31. Three records / \f\
and two tapes cost $29. Find the cost of each record %\ . 14 ly:
and each ta 75 o
pehiame  24+34°3)  (5581)  # (@ sis0 V&
2 kv =29 A A
@ The sum of two numbers is the’same as four times the I,) @ $8, $5 \Q

smaller number. If twice the larger is decreased by the . =\ @ 24 8 v /
smaller, the result is 30. Find the numbers. o § ’ ({
usgas 2 YT (60) A @ s s
A%group of students go out for lunch. If two have § @ $5, 7 v %
hamburgers and five have hot dogs, the bill will be ’f \\
$8.00. If five have hamburgers and two have hot dogs, A\ @ 17 (e

the bill will be $9.50. What is the price of a hamburger\,) ’m@?’&ﬂmﬁ'

/hamlou s X +
dﬂ-? BHx + 2% 1,5
he price of & sweater is $5 less than twice the price of a shlrt If four sweaters

andéh;;e sﬂlrts cost $200, find;ﬁhe p%ee of each shirt and each sweater.
= i = :L -
=200 (103D 67

. shipment of TV sets, som welghlng 30 kg each and the others weighing ¥ Hé =203
50 kg each, has a total weight of 880 kg. If there are 20 TV sets all together,
how many weigh 50 kg? x= 50343 TVs , :j = 5&!&3 TVs S0 ~>~503 30

sTaTsTe 2115 7]z 17 8 83] (9
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